
Composite Functions 
 

Find an expression for 𝑓𝑔(𝑥) for each of 

these functions: 

(a) 𝑓(𝑥) = 𝑥 − 1 and 𝑔(𝑥) = 5 − 2𝑥 

(b) 𝑓(𝑥) = 2𝑥2 and 𝑔(𝑥) = 𝑥 + 3 

 

Find an expression for 𝑔𝑓(𝑥) for each of 

these functions: 

(a) 𝑓(𝑥) = 2𝑥 + 1 and 𝑔(𝑥) = 4𝑥 + 3 

(b) 𝑓(𝑥) =
3

𝑥
  and 𝑔(𝑥) = 2𝑥 − 1 

 

The function f is such that 𝑓(𝑥) = 2𝑥 − 3 

(i)   Find 𝑓𝑓(2)  

(ii)   Solve the equation 𝑓𝑓(𝑥) = 𝑥 

 
Functions f and g are such that  

𝑓(𝑥) = 𝑥2  and  𝑔(𝑥) = 5 + 𝑥 

(a) Find (i)   𝑓𝑔(𝑥) (ii)   𝑔𝑓(𝑥) 

 

(b) Solve 𝑓𝑔(𝑥) = 𝑔𝑓(𝑥)  

 
The function g is such that  

𝑔(𝑥)  =
1

1−𝑥
  for  𝑥 ≠ 1  

(a)   Prove that 𝑔𝑔(𝑥) = 
x

x 1−
   

(b)   Find 𝑔𝑔𝑔(3) 

 

Functions f, g and h are such that 

𝑓(𝑥) = 3 − 𝑥  

𝑔(𝑥) = 𝑥2 − 14   and    

ℎ(𝑥) = 𝑥 − 2 

Given that 𝑓(𝑥)  =  𝑔𝑓ℎ(𝑥), find the  

values of 𝑥. 

 
 

 
 
 

 
 

Composite Functions 
 

Find an expression for 𝑓𝑔(𝑥) for each of 

these functions: 

(a) 𝑓(𝑥) = 𝑥 − 1 and 𝑔(𝑥) = 5 − 2𝑥 

(b) 𝑓(𝑥) = 2𝑥2 and 𝑔(𝑥) = 𝑥 + 3 

 

Find an expression for 𝑔𝑓(𝑥) for each of 

these functions: 

(a) 𝑓(𝑥) = 2𝑥 + 1 and 𝑔(𝑥) = 4𝑥 + 3 

(b) 𝑓(𝑥) =
3

𝑥
  and 𝑔(𝑥) = 2𝑥 − 1 

 

The function f is such that 𝑓(𝑥) = 2𝑥 − 3 

(i)   Find 𝑓𝑓(2)  

(ii)   Solve the equation 𝑓𝑓(𝑥) = 𝑥 

 
Functions f and g are such that  

𝑓(𝑥) = 𝑥2  and  𝑔(𝑥) = 5 + 𝑥 

(a) Find (i)   𝑓𝑔(𝑥) (ii)   𝑔𝑓(𝑥) 

 

(b) Solve 𝑓𝑔(𝑥) = 𝑔𝑓(𝑥)  

 
The function g is such that  

𝑔(𝑥)  =
1

1−𝑥
  for  𝑥 ≠ 1  

(a)   Prove that 𝑔𝑔(𝑥) = 
x

x 1−
   

(b)   Find 𝑔𝑔𝑔(3) 

 

Functions f, g and h are such that 

𝑓(𝑥) = 3 − 𝑥  

𝑔(𝑥) = 𝑥2 − 14   and    

ℎ(𝑥) = 𝑥 − 2 

Given that 𝑓(𝑥)  =  𝑔𝑓ℎ(𝑥), find the  

values of 𝑥. 

 
 


